Fisher-Price’

Infant to Toddler
High Chair

Product features and decorations may vary from the photo above.

Model Numbers: 79666, B2109,B2110,B2111

Please keep this instruction sheet for future reference, as it contains important information.
Adult assembly is required.

Tools needed for assembly: Phillips Screwdriver (not included).

Discover



Warning

/\ WARNING

Prevent serious injury or death

from falls or sliding out.

* The child should be secured in
the high chair at all times by the
restraining system, either in the
recline, semi-recline or upright
position. The restraint belts must
be adjusted to fit your child
snugly. The tray is not designed
to hold the child in the chair.

* Always keep child in view while
in the high chair.

* Never leave child unattended.

* |tis recommended that the high
chair be used in the upright
position only by children capable
of sitting upright unassisted.

Consumer Information

Occasionally a consumer may experience a problem with
one of our products. If this should happen, please call us
toll-free, rather than return this product to the store. Usually,
we can solve the problem over the telephone or send you
replacement parts. Please call Fisher-Price® Consumer
Relations, toll-free at 1-800-432-5437,8 AM- 6 PM EST
Monday through Friday. Hearing-impaired consumers using
TTY/TDD equipment, please call 1-800-382-7470.

Or, write to:
Fisher-Price®
Consumer Relations
636 Girard Avenue
East Aurora, New York 14052

For other countries, outside the United States:

Canada: call 1-800-567-7724, or write to: Mattel Canada Inc., 6155
Freemont Blvd., Mississauga, Ontario L5R 3W2.

Great Britain: telephone 01628 500302.

Australia: Mattel Australia Pty. Ltd., 658 Church Street, Locked Bag #870,
Richmond, Victoria 3121 Australia. Consumer Advisory Service 1300 135 312.

New Zealand: 16-18 William Pickering Drive, Albany 1331, Auckland.




Parts

Seat with Tray
Restraint System

Seat Tube

2 Armrests

Rear 2LeqC
Q Support %/ eg Caps
IMPORTANT! All consumer assembled 2 Retainers

screws must be fully tightened for
proper assembly of this product.

f%

#10 x 21/g" Screw - 4

Front
Support Restraint Post
) |
.((. #10 Lock Nut - 4 i
- y
|m&&&a&m&a&m&&&&m«

#8 x 15/8" Screw - 2

4 Legs

,
.((| #8 Lock Nut - 2
— \

Juie

#8 x 3/4" Screw -7

Footrest

2 Bases

l_IIIHH BRI T

ALL SHOWN ACTUAL SIZE




Assembly

/\ CAUTION s

This product contains small parts
in its unassembled state. Adult
assembly is required.

Legs

IMPORTANT! Before each use or assembly, inspect this product
for damaged hardware, loose joints, missing parts or sharp
edges. DO NOT use if any parts are missing or broken. Contact
Fisher-Price® for replacement parts and instructions if needed.
Never substitute parts.

//’ ‘\\
_ _ 1205 ’
« Fit a leg cap into the openings of two legs, as shown.

+ Push down on the leg cap to be sure it is secure, and there
is no gap between the top of the legs and the leg cap.

Legs + Repeat this procedure to attach the other leg cap to the
/ \ other two legs.

e

Track

WN =
W N -

T Numbers/-

<--§
<--g

Base Tubes

Notch ;J Notch

i

-l
|II||||||||||||

+ Position a base so that the notches face you.

« Position two legs so that the numbers face you.

« Fit a leg onto each base tube.

+ Twist and push each leg until it "snaps" into each base tube.

* Repeat this procedure to assemble the remaining two legs to
the other base.

« Position an armrest so that the track is facing out.
« Fit the armrest onto a leg cap, as shown.

* Repeat this procedure to attach the other armrest to the
other leg cap.



Assembly

Armrest

/  #10 Lock Nut

|n.\~&.\~a.\~&&a&a&x&&a&.\\&a&&.\\.\\.\\.\\m&a

#10 x 27/g" Screw - 2

#10 Lock Nut - 2 % Rounded Side

Shown Actual Size ,

Lock Nut

8

End
of Screw
Visible

‘ Shown Actual Size '

* Insert a #10 x 2'/s" screw through the outside of an armrest,
a rear leg and then out through the inside of the armrest.

« Fit a #10 lock nut into the hexagonal opening on the inside
of the armrest. Make sure the rounded side is facing out.

* Fully tighten the screw with a Phillips screwdriver. When
properly tightened, the end of the screw will be visible,
as shown above.

* Repeat this procedure to secure the other armrest with a
#10 x 2'/8" screw and a #10 lock nut.

'lilllllllll

Front Support
Arrows

—

w0

+ Turn the leg assembly, as shown, so that the armrests point

toward you.

+ Position the front support so that the arrows are pointing

toward you.

« Fit the ends of the front support up between the inside of the

armrests and the front legs.



Assembly

Support

'N.\‘&&‘&.\\\‘M&&M&&&&&N&N&W&a

#10 x 27/g" Screw - 2

#10 Lock Nut -2 % Rounded Side

l Shown Actual Size ,

Lock Nut

End
of Screw
Visible

‘ Shown Actual Size ,

+ While holding the front support in place, insert #10 x 2'/s"
screw through the outside of an armrest, front leg, front sup-
port and then out through the inside of the armrest.

« Fit a #10 lock nut into the hexagonal opening on the inside of
the armrest. Make sure the rounded side is facing out.

* Fully tighten the screw with a Phillips screwdriver. When
properly tightened, the end of the screw will be visible,
as shown above.

« Repeat this procedure to fasten the front support to the other
armrest with a #10 x 2'/" screw and #10 lock nut.

Recline Bar

Rectangular Slots

Circular Slots

Seat Tube

+ Position the seat face down on a flat surface.

+ Insert the seat tube through the a rectangular slot, the two
circular slots in the recline bar and then out through the other
rectangular slot.

Recline
) y Bar

o |}

a .

Seat Tube

8 to Align

Arrows

\
Arrows on U &‘
Recline Bar
, U

Arrows on
Seat Tube

+ Align the arrows on the seat tube with the arrows on the
recline bar.

\




Assembly

Seat

>,
[m] [m] 2
o /° N
Q 0 [ o o
(m] [m)
v v

i i Right End
Left End of
Seat Tube v y of Seat
|[ Tube
Grooves
©
\\ — “\
N & @ |
\ 1
A N Armrest I: i| Notch
Armrest A\ o |
/ 14

7

Lowest Openings

Front Support

M 9 E + Face the back of the seat assembly.
L = « First, fit the left end of the seat tube into the lowest opening
| Yy in the left armrest.

+ Then, fit the right end of the seat tube through the notch
in the right armrest and then into the lowest opening in

+ At an angle, fit the seat between the armrests.
the armrest.

* Now, fit the grooves in the seat tabs to the front support.



Assembly

Ju

#8 x 3/4" Screw

‘ Shown Actual Size ,

v<g 4%
A
)
H
! Hole
Seat § B [ ]
- Tube | . ||
. P !
. .
: | :
. - B s
= = i -
- N 1 |
11 i B -
= | | [
| § N y Seat
- \ 4 Recline
. v Arrows on v 3

» Squeeze the seat recline and
push the seat back forward to
the most upright position.

Recline Bar

Ll

Rt

Arrows on
Seat Tube

+ Align the arrows on the seat tube with the arrows on the
recline bar.

* Insert a #8 x 3/4" screw through the hole in the recline bar
and into the seat tube. Fully tighten the screw with a Phillips
screwdriver.

| —

Squeeze §




Assembly

Short Tab

Footrest

4

« Fit the footrest over the front support and onto the long e Insert four #8 x 3" screws {@m
and short tabs on the seat. through the footrest and into

3/," -
the seat tabs. #8x3/s" Screw - 4

* Fully tighten the screws with ‘ Shown Actual Size ,
a Phillips screwdriver.



Assembly

Rear
Support

Footrest

7 | BackView
Im&a&a&s&a&a&a&m&m«
+ Position the assembly face down. #8 x 3/a" Screw - 2
* Insert a #8 x 3/4" screw through each #8 X 15/g" Screw - 2

end of the seat and into ‘Shown Actual Slze’
the footrest. #8 Lock Nut - 2 % Rounded Side
* Fully tighten the screws with a Phillips screwdriver.
l Shown Actual Size ,

Lock Nut
End
of Screw
Visible
‘ Shown Actual Size '
Restraint
Post + Face the back of the assembly.

+ Position the rear support so that it bends upright.

+ Align the screw holes in the rear support with the screw holes
in the rear legs.

+ Now, place a retainer over each end of the rear support.

* Insert a #8 x 15/8" screw through the outside of each rear leg,
the rear support and into the retainer.

+ Fit a #8 lock nut into the hexagonal opening in the retainers.
Make sure the rounded side is facing out.

* Fully tighten the screws with a Phillips screwdriver. When
properly tightened, the end of the screw will be visible,
as shown above.

+ Position the assembly upright.

+ At an angle, insert the large tab on the restraint post into the
slot between the seat and the footrest.

+ Then, push to “snap” the restraint post into the large opening
in the footrest.

10



Assembly

Head Support

Head S ort
upp Elastic Straps

* Place the pad onto the §eat » From behind the seat, hook the elastic straps over the tabs
* Insert the two top elastic straps through the slots labeled 1 labeled 3.
in the head supports.

Top of Pad

Elastic Straps

« Lift the head supports to locate the large hole in the seat
back labeled 2. .

+ Insert the elastic straps through the large holes labeled 2.

. From the front of the seat,
fit the top pocket on the i i
back of the pad overthe [ (i e &
top of the seat. i | View 15

« From the back of the seat, fit the top edges of the pad around
the head support levers.

« Press the center of the pad to fasten it to the seat.

1



Assembly

Elastic

- Lift the bottom of the pad.
« Fit the elastic straps on the edge of the pad through the slots

« Fit the elastic straps through . "
the in slots the seat bottom. "‘”RHMMWWHH in the footrest.

« From the back of the seat, fit the elastic straps onto the tabs,
as shown.

 Back View |

* From behind the seat, hook the elastic straps onto the posts,
as shown.

« Fit the waist belts through the two upper slots in the pad.
» Fit the crotch belt through the lower slot in the pad. 12



Securing Your Child

IMPORTANT! Before each use, inspect this product for
damaged hardware, loose joints, missing parts or sharp edges.
DO NOT use if any parts are missing or broken. Contact
Fisher-Price® for replacement parts and instructions if
needed. Never substitute parts.

/N WARNING

Prevent serious injury or death
from falls or sliding out.

The child should be secured in

the high chair at all times by the
restraining system. The restraint belts
must be adjusted to fit your child
snugly. The tray is not designed to
hold the child in the chair.

* Place your child in the seat. Position the crotch belt between
your child’s legs.

+ Fasten both waist belts to each side of the crotch belt. Make
sure you hear a "click" on both sides.

+ Check to be sure the restraint system is securely attached by
pulling it away from your child. The restraint system should
remain attached.

13

\Q/'\ Buckle

¢
@@ —

2 —
—— e

To tighten the waist belts:

+ Feed the anchored end of the waist belt up through the
buckle to form a loop 0.

- Pull the free end of the waist belt @ .
* Repeat this procedure to tighten the other waist belt.

"le Buckle
(AL LS

To loosen the waist belts:

* Feed the free end of the waist belt up through the buckle to
form aloop ).

+ Enlarge the loop by pulling on the end of the loop toward
the buckle.

« Pull the anchored end of the waist belt to shorten the free
end of the waist belt G.

* Repeat this procedure to loosen the other waist belt.



Using the Tray

/\ WARNING

Prevent serious injury or death
from falls or sliding out.

The child should be secured in
the high chair at all times by the
restraining system. The restraint
belts must be adjusted to fit your
child snugly. The tray is not
designed to hold the child in

the chair.

Armrest

%
.4

« Fit the tray onto the armrests, as shown. Push down until the
tray “snaps” into place.

« Test to be sure the tray is secure on the armrests. Push the
tray back and forth. It should not move.

Hint: Before use, thoroughly wash the tray.

1

Adjust

Forward or Forward

. to Remove

o2
e
l N

+ While pushing the button on the front of the tray, adjust the
tray forward or backward. Make sure it locks into position.

+ To remove the tray, push the button on the front of the tray
and slide it forward and off the armrests.



Adjusting the Seat Height

/\ WARNING

\.

Prevent serious injury or death
from falls or sliding out.

It is recommended that the high
chair be used in the upright
position only by children capable
of sitting upright unassisted.

Hint: Adjust the seat height to any of three positions 1,2 or 3.

D —

Height
Position
Number

Height Lever

To adjust the seat height:
* Press the height lever on the front base and lift or lower the

seat to the desired height.

+ Make sure both front legs are adjusted to the same height.
« Press the height lever on the rear base and lift or lower the

seat to the same height as the front legs.

» Make sure both rear legs are adjusted to the same height.
* Push the seat bottom to be sure all four legs are locked

in place.

IMPORTANT! Make sure the number that shows in each notch in

the front an back bases are the same for all four legs.

Adjusting the Seat Angle

Hint: Adjust the seat angle in any of four positions: Upright,
Semi-Upright, Semi-Recline or Recline.

Seat
Recline

To adjust the seat angle:

+ Squeeze the seat recline and
push the seat back forward or
pull it backwards to the
desired position.

+ Push the seat back to be sure it g
is latched in position. N 4
IMPORTANT! When the seat is in the recline positions, be
sure the tray is secure on the armrests. Push the tray back
and forth. It should not move.

Squeeze J#



Using the Head Supports

Press to Press to

Raise |y Raise
Supports [N, . )

Supports

Headrest
Lever

Headrest
Lever

* Press the head support levers to raise supports.

Lift to Lift to
Lower § Lower

Supports P AT Supports

Headrest
Lever

Headrest
Lever

« Lift the head support levers to lower supports.

Fisher-Price, Inc., a subsidiary of Mattel, Inc., East Aurora, NY 14052 U.S.A.
©2002 Mattel, Inc. All Rights Reserved. ® and ™ designate U.S. trademarks of Mattel, Inc.

Care

+ The pad is machine washable.Wash the pad separately in cold
water on the gentle cycle. Do not use bleach.Tumble dry
separately on low heat and remove promptly.

+ The frame and tray may be wiped clean using a mild cleaning
solution and a damp cloth. Do not immerse the tray.

To remove the pad:

+ Remove the six elastic loops from the pegs on the back of the
seat and underside of the footrest.

+ Remove the pad upper pocket from the seat back.

+ Feed the waist straps through the slots in the pad and the seat.
+ Feed the waist straps through the slot in the pad and the seat.
* Remove the pad from the seat.

To replace the pad, refer to Assembly steps 18-25.

IMPORTANT! Never use this product without the
restraint system.

Printed in Mexico
79666pr-0920



